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In Class Exercise on loops and if statements:
These are unrealistic problems, but they help to make sure that you understand the flow of logic and can follow it through to completion.

Problems #1:

startc
firstHum = 100
secondNum = 5

thirdNum = 12
the Result = 0
do while secondNum <= thirdNum
if firstHum > 500
firstHum = firstHum * 2
secondNum = secondNum +1
else
firstlum = firstHum + 100
thirdNum = thirdNum -1
end if
end while loop
theResult = firstNum + secondMum + thirdium
display theResult
end

Problem #2:

startc
firsthum = 25
secondfum = 50

thirdNum = 75
fourthNum = 100
ct = 0
workins = 0
thelns = 0
do while ct < &
workfins = firstHum + secondNum
if workZnsz > thirdNum
fourthMum = fourthMNum / 2
firstlum = firstNum * 3
secondNum = firstlum - secondNum

thirdNum = thirdNum *2
else
firstHum = firstNum + 10
secondNum = secondNum + 10
thirdNum = thirdNum + 10
end if
ct = ct + 1
end do
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To be classified as a programming
language, the language must include
sequence

selection

iteration
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thelns = firstHum + secondNum * thirdNum + fourthlNum

display theAns
end
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In Class Exercise on loops and if statements: F
These are unrealistic problems, but they help to make sure that you understand the flow of logic and can follow it through to completion.

Problems #1:

start
firstHum = 10
secondNum = 5
thirdlum = 12
the Result = 0
do while szecondNum <= thirdNum
if firstHum > 500

firstlum = firstNum *~ 2
secondNum = secondMum +1
else

g a,/’l 5
One time things done when the

program starts

firstNum = firstNum + 100 \ k
thirdfum = thirdNum -1 ,
end if 0(/% wrF

end while loop
theResult = firstHum + secondNum + thirdi
display theResult
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Problem #2:

m

start
firstHum = 25
secondNum = 50 One time things done when the
thirdium = 75 - YG'O W program is about to end.
fourthNum = 100
ct =0
workins = 0
thefns = 0
do while ct < &
workBns = firstHum + secondNum
if workins > thirdNum
fourthMNum = fourthNum / 2
firstHum = firstHum * 3
zecondNum = firstNum - secondNum
thirdfum = thirdNum *2

else
firstHum = firstNum + 10
secondNum = secondNum + 10
thirdfum = thirdNum + 10
end if
ct = et + 1 | 3
end do
thelns = firstNum + secondfum * thirdNum + fourthMNum
display theins

end
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In Class Exercise on loops and if statements:
These are unrealistic problems, but they help to make sure that you understand the flow of logic and can follow it through to completion.

Problems #1:

Pz
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thirdfum = 12

do while secondNum <= thirdNum \

if firstNum > 500

firstHum = firstHum * 2

secondNum = secondNum +1 O
else

firstNum = firstNum + 100 0

thirdNum = thirdNum -1
end if
end while loop
theResult = firstNum + secondNum + ThirdNum

display theResult
end
Problem #2: 0
start

m

firsctHum = 25
secondNum = 50
thirdlum = 75

fourchNum = 100 /
ct =0
workins = 0
thelns = 0
do while ot < 6
workhns = firstNum + secondium
if workfnszs > thirdNum
fourthNum = fourthNum / 2
firstNum = firstHum * 3
secondlum = firstNum - secondium
else

thirdNum = thirdNum *2

firstNum = firstNum + 10

secondNum = secondium + 10 O
thirdNum = thirdNum + 10

end if
ct = ¢ct + 1
end do

thefnz = firstNum + secondNum * thirdNum + fourthNum
display thefns
end
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In Class Exercise on loops and if statements:
These are unrealistic problems, but they help to make sure that you understand the flow of logic and can follow it through to completion.

Problems #1:

sz 'C\r T”\)wv\ SCcanf K/(,m ‘wQ wdm . w~HA k) vV

zecondNum = 5

thirdNum = 12
the Result = 0 56 IOO
do while secondNum <= thirdNum
if firstHum > 500
firstNum = firstHum * 2 3
secondium = secondfum +1 6 O
firstNum = firstHum + 100
thirdNum = thirdNum -1
end if
end while loop

theResult = firstNum + secondNum + thirdNum
display theResult

end 3
Problem $£2: Odlj

start

st ct UUM:A\ ) % Aaﬁ /}’:,.Mﬁ

else

thirdNum = 75
fourthfum = 100

g G
workins = 0
thelns = 0 / O %
do while ct < 6 h— 0
workBns = firstNum + secondNum
if workfinz > thirdNum
fourthNum = fourthNum / 2 *
firstcNum = firstHum * 3 \ (/
secondNum = firstNum - secondium ’T

thirdNum = thirdNum *2

else
firstHum = firstMNum + 10
secondNum = secondNum + 10

. s T
thirdNum = thirdNum + 10 m
end if

ct = ct + 1
end do
thelns = firstHum + secondium * thirdNum + fourthNum
display thefns
end

m
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In Class Exercise on loops and if statements:

These are unrealistic problems, but they help to make sure that you understand the flow of logic and can follow it through to completion.

Problems #1:

m

0
O

/O;’, O 0
firstHum = firstHum + 10
secondNum = secondNum + 10
thirdNum = thirdNum + 10 \X
end if
ct = ot + 1
end do
thelnzs = firstHum + secondNum * thirdWum + fourthium
display thelAns g

start ,\) .
Exxaenun = 100 ' ; vl Seaanfly,, TW@ K, p Spwtin U v
zecondNum = 5 m
thirdifum = 12
the Result = 0 56 l
do while secondNum <= thirdNum ,pe’
if firstHum > 500
firscNum = firstHum * 2
secondNum = secondNum +1
else U w
firstNum = firstNum + 100 (7
thirdNum = thirdNum -1
end if
end while loop /
theResult = firstNum + secondMum + thirdMNum
display theResult %
Problem #2: % ’Mb
start
firstlum = 25 C_
secondNum = 50 ‘A}g’ 4‘ %A
thirdium = 75 j ]‘6
fourthNum = 100
ct = 0
workhns = 0
thefns = 0
do while ct < &
workfins = firstHum + secondNum
if workfins > thirdNum
fourthNum = fourthNum / 2
firstHum = firstMum * 3
secondNum = firstHum - secondfum
thirdNum = thirdNum *2

else

=00 B9y

end
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Practice exercise:

Payroll file: (each record 1s payRecord)
idno name payHr regHrs ovtHrs

1111 John Doe 20 40 10

1234 Ann Costa 25 40 o

R —— /\“‘\)(m)i%'m‘\ cad

EOF

start
read payRecord

do while not endOfFile
if ovtHrs > 0
regPay = payHr * regHrs
ovtPay = payHr * ovtHrs * 1.5

totPay = regPay + ovtPay
else

totPay = payHr * regHrs
end 1if

display totPay

read payRecord

end do while loop
stop program

SCREEN1 OF 1 B B




FILE TOOLS VIEW ifexample510.doc [Read-Only] [Compatibility Mode] - Word

ERE

Practice exercise: [¥] Capture to new page

Payroll file: (each record 1s payRecord)

idno name payHr regHrs ovtHrs

1111 John Doe 20 40 10

1234 Ann Costa 25 40 o

2222 Linda Eyan 30 40 20 »
2345 Bok Smith 30 a5 10 ,?

EOF < g —

—
start

read payRecord
do while not endOfFile
if ovtHrs > 0
regPay = payHr * regHrs
ovtPay = payHr * ovtHrs * 1.5
totPay regPay + ovtPay
else

totPay payHr * regHrs
end 1if

display totPay
read payRecord
end do while loop

AN

stop program
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FILE TOOLS VIEW ifexampleS10-1.doc [Read-Only] [Compatibility Mode] - Word = - x

Practice exercise:

Payrcll file: (each reccord is payRecord)

idno name payHr regHrs ovtHrs 549
1111 John Doe 20 40 10 /— Vv
1234 Znn Costa 25 40 o A~/ ,I_ l‘i ‘Z(‘,\él'
2222 Linda Ryan |30 40 20 r—‘ \ n l
2345 Bob Smith |30 35 10 A2 (
EOF f—\_—ﬁ —~
— — p{ &N\\V\‘\ /)
start \ 4

read payRecord /) )«)j(

do while not endOfFile \ X

if ovtHrs > 0 J\/ 00
regPay = payHr * regHrs I
ovtPay payHr * ovtHrs * 1.5 /7 0 ‘
totPay = regPay + ovtPay \ﬂ"/‘

else Ycﬂ }
totPay = payHr * regHrs

end 1if

display totPay

read payRecord %/w

end do while loop
stop program
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FILE

alogicasgnFl2.doc [Read-Only] [Compatibility Mode] - Word =

dizplay toOrder
read invenRecord
end do while loop
stop program

TOOLS VIEW
else
varl = varl - 1
var2 = wvar2 + 3
end if
return
start Problem #6: When the pseudocode
amtl = 1 displays ans, what number will ans be?
amtiz = 2
ans = 0 6. ans =31
do while amt2 < 15 7. ans =29
if amtl > 10 8. ans =23
amcl = amcl + 1 9 ans=27
amtZ = amtZ + 1 10. ans =30
else

end while loop
ans = amtl + amtZ
display ans

end

Inventory File where each record is
invenRecord:

Problem #8: Show the output
that would be generated of this
pseudocode was executed

itenN |onHan |onOrde |reCrdP using the data shown.

° d r i Note that I want to see the
11111 |20 40 50 output from each of the
22222 |20 30 S0 records you process.
33333 |25 15 50

44444 10 50 75

55555 |20 0 40

Inventory File where each record is
invenRecord:

Problem #7: Show the output
that would be generated if this
pseudocode was executed

do while not endCfFile
calcTolrder ()
display toOrder
read
end do wh
stop program

calcTolrder|
totInven = onHand + onOrder
if totInven > reOrdPt
to0rder = 0

tolrder = (reQOrdPt - (onHand + onOrder)) #* 1.5
end if
return

itemN |onHan |onOrde |reCrdP using the data shown.

L] d r id Note that I want to see the
11111 |20 40 50 output from each of the
22222 |20 30 50 records you process.
33333 25 15 50

44444 10 50 75

55555 20 o 40

start

read invenRecord
do while not endCfFile
totInven = onHand + onCrder
if totInven > reCrdPt
tofrder = 0

tolrder = (reCrdPt - (onHand 4+ onOrder)) + 100
end if
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